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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226620521 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding committees

1. Sarkaria committee a. Electoral reforms

1. Dinesh Goswami committee b. Establishment of NABARD

11. K. Santhanam Committee c. Centre-State relationship
1v. Shivaraman Comimittee d. Establishment of CBI
1. i-a. 1ii-c. iu-b. 1v-d
2 i-c. 1i-a. i-d. iv-b
3 b s e vl
4. i-d. 1-b, iii-a. iv-c
Options :
1. % 1
2.4
3. % 3

4. % 4



Question Number : 2 Question Id : 39226620522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the incorrect matched pairs regarding games and their
cups/trophies
1. Table Tennis
2. Basketball
3 Football
4. Cricket

Swathling cup. Corbillon cup

Federation cup. Blue challenge cup

FiFA world cup. Santosh trophy

Challenger cup. Amrit Diwan cup

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 3 Question Id : 39226620523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct matching

I; Land of thunderbolts - Finland
2. Holy mountain - Fuzivama
3. Island continent - Europe
4. Island of pearls — Myanmar
Options :
1% 1
2.¥2

3. %3
4.% 4



Question Number : 4 Question Id : 39226620524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
96™ Oscar award winning film and actress
L. The Boy and the Heron — Robert Downey
2. Oppenheimer — Emma Stone
3. Oppenheimer — Cillian Murphy
4. The Zone of Interest — Joy Rodolph
Options :
1% 1
2.¥2

3. %3
4.% 4



Question Number : 5 Question Id : 39226620525 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answers regarding Booker awards — 2025 award
winning book “Heart Lamp”

a. Writer — Banu Mushtaq
b. English translation — Deepa Bhasti
(o Original story — Haseena and other stories
I a
2. a.b
3. a.c
4. a.b,c
Options :
1% 1
2.% 2
3. %3

4.9 4



Question Number : 6 Question Id : 39226620526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

A muxture of Carbon monoxide and Hydrogen 1s called

L. Water gas

)

Producer gas

Coal gas

a3

4. Gobar gas

Options :
1.9 1
2.% 2
3.%3
4. % 4

Question Number : 7 Question Id : 39226620527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct answer regarding Indian rooted women

a. Anita Anand — External Affairs Minister. Canada

b. Tulsi Gabbard - Director of National Intelligence, USA

¢. Usha Chilukuri — Education Minister. Australia
3.0
2 b. ¢
3. a.b
4. b
Options :
1. % 1
2. % )
3.43

4. % 4



Question Number : 8 Question Id : 39226620528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Swaraj Party was formed by

1. Jawarlal Nehru & Patel

2, Motilal Nehru &Tilak

3. C.R. Das and Bipin Chandrapal

4. Motilal Nehru & C.R. Das

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 9 Question Id : 39226620529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Constitutional amendment

i. 42" amendment a. Panchayat Raj institution constitutional
guarantee

ii. 10™ amendment b. Women's reservation bill

~1d S

iii. 73" amendment ¢. Incorporated Dadra Nagar Haveli 1s

Union Territory

iv. 106™ amendment d. Incorporated words Socialist,
Secular. Integrity in Preamble

1. i-d. 1-c. 1ii-a. 1v-b
2. i-c. 1-b. 11-d. 1iv-a
3. i-a., 1ii-c, 1i-d. 1v-b
4. i-b. 1-c. 1ii-a. iv-b

Options :

1.v 1

2.% 2

3.% 3

4. % 4



Question Number : 10 Question Id : 39226620530 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose incorrect statement regarding appearance of colour papers
m light of different colours.

I White paper will appear green colour in green light
2. Red paper will appear black colour in green light
3. Green paper will appear green colour in green light
4, Yellow paper will appear yellow colour in green light
Options :
1%
2.% 2
3. % 3

4.9 4



Question Number : 11 Question Id : 39226620531 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct matching

1. Home Rule Movement i 1919
1l. Khilafat Movement b. 1930
11l. Dandi Movement C. 1942
1V, Quit India Movement d. 1916
1. i-b, f-¢c -4 iv-d
318 i-h M- m-¢ -3
3 i=e. H-a m=d w=b
4. i=d H=a WM«b iv=c

Options :

1. % 1

2. % )

3. % 3

4.9 4



Question Number : 12 Question Id : 39226620532 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer

3 Bharatanatyam a. Kottakkal Sivaraman
1. Kathak b. Birju Maharaj
ni.  Kathakali e Vempati Chinna Satyam
tv.  Kuchipudi d. Padma Subrahmanyam
L. i-a, 1i-b, 1i-c 1v-d
2. i-d. 1-b, 1mi-a wv-c
3. i-d. 11-c, nm-b.iwv—a
4. i-c. 1-b, 1i-d 1v-a

Options :

1. %1

2.¥2

3. % 3

4.% 4



Question Number : 13 Question Id : 39226620533 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding central government
schemes and vears

1. SAUBHAGYA a. 2021
1. SUAMITVA b. 2017
111. VISUAS £ 2018
1v. PMKISAN d. 2020
1. i-a. 1ii-c. 1i-b. 1v-d
2. i-b. 1i-a. 1i-d. 1v-¢
3. i-c. 1ii-a. 1i-b. 1iv-d
4. i-b. 1-d. 1-a. 1v-c

Options :

1. %1

2. %2

3.% 3

4.¥ 4



Question Number : 14 Question Id : 39226620534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The group in French Society to get the status of active citizenship
from the constitution of 1791 was

L. Men above 25 years who have no vote
2, All the citizens of France
3 Men above 25 who pay taxes equal to at least 3 days of the
labourer’s wage
4. Women and Youth above 25 who get 3 days labourer’s
wage
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 15 Question Id : 39226620535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The number of rings in Olympic games logo 1s

L. 6
2. i
3 5
4. 8
Options :
1. % 1
2.% 2
3.¥3

4. % 4



Question Number : 16 Question Id : 39226620536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the airport that is not in the list. maugurated under UDAN
scheme on October 20. 2024

L Goa
2 Rewa
3. Ambikapur

4. Saharanpur
Options :
1.¥1
2.% 2
3. % 3
4. % 4

Question Number : 17 Question Id : 39226620537 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The most polluted city in the world with Air Quality Index (AQI)
of 708 identified on October 29, 2024 15

1. Delhi
2 Dhaka
3. Lahore
4. Patna

Options :

1. %1

2. % 9

3.¢3

4, % 4



Question Number : 18 Question Id : 39226620538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In India, Braille Insurance policy for visually impaired was
mtroduced by

Life Insurance Corporation of India
2. Star Health and Allied insurance

3. TATA AIA Life Insurance Co. Ltd
4. SBI Life Insurance Co. Ltd

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 19 Question Id : 39226620539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Name of super computer are unveiled by Prime Minister
Shri. Narendra Modi on September 26. 2024.

L. Aryabhatta
Siva Shakthi
Ganana - 09
4. Param Rudra

12

T4d

Options :
1. %1
2. % 2
3.% 3
4.9 4



Question Number : 20 Question Id : 39226620540 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The world’s first high-attitude Para sports centre is

being built in

1 Los Angeles (United States)

2. Leh-Ladakh (India)

24 French Alps (France)

4, Brisbane (Australia)

Options :
1. % 1
2.9 2
3.% 3
4, % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
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20
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Question Number : 21 Question Id : 39226620541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The main vision of NEP — 2020 15

L To make India a global knowledge super power

2. To focus on scientific and technical knowledge only
3 To centralize education under one governing body

4. To promote Sanskrit as the National Language

Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 22 Question Id : 39226620542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the ‘Speaking — Language Disability” among the following
pairs

1. Dyslexia, Dysgraphia

12

Dyslexia. Alexia

T4l

Dysphasia. Aphasia

4. Alexia. Agraphia

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 23 Question Id : 39226620543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Stage of an individual that 1s NOT in Human capital stages

L. Gestation stage
2. Expression stage
3. Productive stage
4. Survival stage

Options :

1%

2.¥2

3. % 3

4, % 4



Question Number : 24 Question Id : 39226620544 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct set from the following

[ I1
1) Kant a) School of Tomorrow
11) John Dewy b) The Ideal of Human Unity
1) JJ Rousseau ¢) Critique of Pure Reason

1v) Aurobind Ghosh d) The Progress of Art and Science
I i—-c¢ 11—-b ii—aiv-d
2 i—-¢ 1—a um-div->b
3. i—-b 1un-d mi—civ—a
4 i—d 1n-c¢ 1ui-biv-a

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 25 Question Id : 39226620545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This is an Education Institutional Diary
i Service Register
Z. Academic Guidance Register
3. Stock Book
4. Log Book

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 26 Question Id : 39226620546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To bring equal opportunities among students. recommendations on
‘Minimum Learning Levels’ were given by

1l Sargent Report
2. Kothart Commission
3. National Education Policy 1986

4. Wood’s Dispatch

Options :
1. % 1

2. %2
3.¢3
4.% 4



Question Number : 27 Question Id : 39226620547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding education committees and it’s
recommendations

1. Secondary Education a. Compulsory primary education
Comumission

1. Kothari Commission b. 6 hours will allotted for work
education in a week

ii1. Malcam Adiseshaiah c¢. Students will be given subject

Committee selection option

tv. Eswarbhai patel d. Apprenticeship will be provided
Conunittee

l. i-c, 1-a, m-d, iv-b

% i-c, 11-b, 11-a. 1v-d

3. i-b. 1-a, 11-c. 1v-d

4. i-d, 1-b, 1i-a. 1v-c

Options :

1.¥ 1

2. %2

3. % 3

4. % 4



Question Number : 28 Question Id : 39226620548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct matching set

I I

1)  Sakshar Bharath a) 1985
11) National Open School b) 1989
111) IGNOU c) 2016
1v) RPWD Act d) 2009
i i—a in—d n-b iwv-c
2, i—Db ii—c¢ 111—a wv—d
3 1—¢ ii—a n-b iwv-d
4. i—d ii—b 111—a wv—c

Options :

1%

2.% 2

3.% 3

4.¥ 4



Question Number : 29 Question Id : 39226620549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer

a. Human behaviour is directed by their experiences not by the
eternal values — John Dewey

b. Educational objectives are educational values - Cunningham
L, a. b - correct
2. a. b - incorrect
3. a - only correct
4. b - only correct
Options :
1.v1
2.% 2
3. % 3
4. % 4

Question Number : 30 Question Id : 39226620550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Teaching while walking” concept was proposed by
1. Aurobindo Ghose

2 Rabindranath Tagore

3 Mahatma Gandhi

4. Gijubhai

Options :
1. % 1
2.2
3.%3
4. % 4



Question Number : 31 Question Id : 39226620551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Prime Minister of India who initiated. globalization
liberalization and privatization for quality education after GATS
(1995) was

L. Dr. Manmohan Singh

2. Sr1 P. V. Narasimha Rao

L4d

Sr1. Rajeev Gandhi
4. Sri. Atal Bihari Vajpayee
Options :
1% ]
2.¥2
3.%3
4.% 4

Question Number : 32 Question Id : 39226620552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Full form of ‘DIKSHA’
L. Digital Innovation for Knowledge Sharing Hub Application
2.

Digital Initiative for Knowledge Sharing Academy

3 Digital Infrastructure for Knowledge Sharing
4. Digital Infrastructure for Knowledge sharing and Holistic
Assessment
Options :
1. %1
2. % 2
3.3

4.% 4



Question Number : 33 Question Id : 39226620553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Right to Education Act

a.

12

Tl

4

Options :
1. % 1
2.% 2
3.% 3
4. 4

86™ Constitutional amendment declared Primary Education
1s fundamental right

RTE act - 2009 contains 7 chapters and 38 articles.

Article-29 explained about curriculum and evaluation
procedures

School with 1-5 class shall work for 1000 hours in a year
a.c.d
b.c.d
a.b.d

a.b.c



Question Number : 34 Question Id : 39226620554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to Factory Act — 1982, children below this age group
are not allowed to work in working place like factory, garage etc.
1 13 years
2 14 years
3. 15 years
4. 16 years

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 35 Question Id : 39226620555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

‘Sarvagna’ 1s the title of

L. Parshvanatha

2. Guathama Buddha

2 Vardhamana
4. Swethambara
Options :
1. % 1
2.8 )
3.¢3

4, % 4



Question Number : 36 Question Id : 39226620556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding investment on Education

1. Social cost a. Investment on book. school fee.
transport
1. Private cost b. Earning loss during studies
111. Opportunity cost c. Salaries. scholarships, TLM
L. i-a. 11-b. 1ii-C
2. i-a. 11-c. 111-b
3 i-c. 1i-a. 11-b
1 i-b. 11-a. 1ii-C
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 37 Question Id : 39226620557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The abilities for adaptive and positive behaviour that enable
individuals to deal effectively with the demands and challenges of
everyday life is /are

1. Professional Development

1o

Natural abilities
3 Life Skills
4. Professional Ethics

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 38 Question Id : 39226620558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Nalanda University was located at
L. Kishanganj, Bihar
2. Madhubani. Bihar
3. Rajagir. Bihar
4. Nawada. Bihar

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 39 Question Id : 39226620559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Any combination of learning experience designed to help
mdividuals and communities improve their health, by increasing
their knowledge or influencing their attitude is

l. Inclusive Education
2 Health Education
3. Adolescence Education
4. Physical Education
Options :
1. % ]
2.4
3. % 3

4. % 4



Question Number : 40 Question Id : 39226620560 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

According to RTE. ‘Percentage of women members in State

Advisory Board
L 33%
2, 30%
3! 45%

4. 50%

Options :
1. % 1
2.% 2
3.%3
4.9 4
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Section Marks :
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Question Number : 41 Question Id : 39226620561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Piaget. Animism means

k- The belief that children love to play with animals during
pre-conceptual stage.

2. Children exhibit animal like behaviour during
pre-operational stage.
3. The belief that inanimate (non-living) objects have life like
qualities.
4. Children’s Cognitive development is parallel to that of
animals.
Options :
1% 1
2. % 2
3.¥3
4.% 4

Question Number : 42 Question Id : 39226620562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The defense mechanism that can help people cope with unwanted
or disturbing thoughts and feelings by channeling that energy into
constructive activity is

| Rationalisation
2. Displacement
3 Projection
4. Sublimation
Options :
1. % 1
2. %2
3. %3

4.9 4



Question Number : 43 Question Id : 39226620563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Skinner

L. External stimulus is essential for getting response.
2. All the elicited responses of the child are to be reinforced
for learning.
3. The desired responses emitted by the child are to be
reinforced for learning.
4. No reinforcement is necessary for learning.
Options :
1% 1
2.% 2
3.¥3
4.% 4

Question Number : 44 Question Id : 39226620564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The basic principle underlying the Vygotskian framework does
NOT include

1. Children construct knowledge through social interaction.
2. Development cannot be separated from the social context.
3. Language plays a central role in mental development.
4. Inner speech hinders cognitive development in children.
Options :
1% 1
2.% 2
3.% 3

4.9 4



Question Number : 45 Question Id : 39226620565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Incorrect statement regarding experimental method among the
following 1s

L. Independent variable will be under the control of
experimenter.
2. Dependent variable will be under the control of the subject

on whom experimentation is done.

3. The success of experimental method depends on the
controlling of interfering variables.
4. The changes in dependent variable are assessed by the
experimenter to know the influence of independent variable
Options :
1% 1
2.¥2
3. %3
4.% 4

Question Number : 46 Question Id : 39226620566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Incorrect statement regarding attitudes among the following 1s

1. Attitudes are mnate.
2 Attitudes may be positive or negative.
3. Person’s attitude is often shown through their behaviour.
4. Attitude us a tendency to react favorably or unfavorably
towards class of stimuli.
Options :
1.¥ 1
2.% 2
3. % 3

4.% 4



Question Number : 47 Question Id : 39226620567 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Cephalo caudal principle. the following is the typical
order of physical development in an infant

1. Gross motor control of legs. then arms followed by head
control

2. Fine motor skills in fingers. followed by torso. than head
control.

3 Head and neck control. followed by upper body & arms,

and then lower body and legs.

4. Development of vision and hearing followed by physical
mobility

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 48 Question Id : 39226620568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following best describes “esteem needs” in Maslow’s Theory
of Hierarchy of Needs

1. The need for respect. recognition and a sense of
accomplishment.

12

The need for warmth for affection and intimacy from others.
3 The need for personal security and freedom from fear.
4, The need for food. water & sleep.

Options :
1.9 1
2.% 2
3.%3
4. % 4



Question Number : 49 Question Id : 39226620569 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first step in the process of memory 1s
Ji Learning
2. Retention
3 Recognition
4. Formation of an engram
Options :
1.¥1
2.% 2
3. % 3
4.% 4

Question Number : 50 Question Id : 39226620570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Learning to drive a car with manual gear system and then learning
to drive a car with automatic gear system’. The possible transfer of
training in this case with regard to using of gear is

1 Positive
2. Negative
A Zero

4. Bilateral
Options :
1. % 1
2.2
3.%3
4, % 4



Question Number : 51 Question Id : 39226620571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In famous Bobo doll experiment. children who observed an adult
behaving aggressively toward a Bobo doll were most likely to

I Never display aggression towards the doll.

2, Display aggression towards doll similar to that of an adult.
3. Help the doll and show kindness.

4, Ignore the doll completely.

Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 52 Question Id : 39226620572 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
This is NOT a graphical representation of frequency distribution
1. Scatter plot
2. The Histogram diagram
3. The Frequency polygon
4. Ogive Curve
Options :
1.v' 1
2. % 2

3. %3
4.% 4



Question Number : 53 Question Id : 39226620573 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following type of leadership is also known as hands - off -
leadership

i Democratic leadership
Z. Laissez-faire leadership
3. Authoritative leadership
4, Charismatic leadership

Options :

1% 1

2.¥2

3. % 3

4.% 4

Question Number : 54 Question Id : 39226620574 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Person with the following intelligence may be called as ‘Self
Smart’

[ Linguistic intelligence
2. Bodily kinesthetic intelligence
3 Inter personal intelligence
4. Intra personal intelligence
Options :
1% 1
2.% 2
3.% 3

4.9 4



Question Number : 55 Question Id : 39226620575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In cooperative learning

1 Students work independently and combine their
contributions.
Z. Students work together to achieve a group goal.
3. Students are not individually accountable for their work.
4. The teacher need not guide the students.
Options :
1% 1
2.¥2
3.% 3
4.% 4

Question Number : 56 Question Id : 39226620576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A girl wants to join in NCC programme, but she is scared of
physical strain. The conflict of her is

1. Avoidance - Avoidance
2. Approach - Approach
3. Approach - Avoidance
4. Double Avoidance - Approach
Options :
1% ]
2.% 2
3.¢¥3
4.% 4



Question Number : 57 Question Id : 39226620577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The experiments done by Watson on Albert supports following
learning theory
/17 Instrumental Conditioning
4 Theory of Instruction
3. Insightful Learning
4. Classical Conditioning

Options :
1. % 1
2.% 2
3.%3
4.9 4

Question Number : 58 Question Id : 39226620578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The statement that accurately distinguishes aptitude from
mtelligence 1s

1. Intelligence 1s related to personality, while aptitude is
related to creativity.

2 Aptitude is a measure of general intelligence while
intelligence 1s a measure of specific abilities.
3. Intelligence 1s the capacity to learn and solve problem.,
while aptitude refers’ to specific abilities.
4. Aptitude and intelligence are same concept and can be used
interchangeably.
Options :
1% 1
2. % 2
3.¥3

4. % 4



Question Number : 59 Question Id : 39226620579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The incorrect statement regarding person with ADHD is
1. Have a short attention span and being easily distracted.
2. Difficulty in concentrating & focusing.
3. Being able to sit still especially in calm or quit surroundings.
4. Constantly changing activity or task.

Options :

1% ]

2.% 2

3.¥3

4.% 4

Question Number : 60 Question Id : 39226620580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Wrong statement among the following

L. ‘Gestalt’ 1s a ‘German’ word meaning ‘organised whole’.
2. ‘Persona’ is a ‘Latin’ word meaning ‘Mask".
¥ ‘Emovere’ 1s a “Greek’ word meaning ‘expressing emotions'.
4. ‘Adolescere’ 1s a “Latin’ word meaning ‘to grow up to
maturity’.
Options :
1% 1
2. % 2
3.¢3
4.% 4
Section 4
Section Id : 392266648
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 100



Number of Questions to be attempted : 100

Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266718
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 39226620581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the true statement about non-finite verbs.

I They do not indicate tense. person. or number.
2. They are used in simple present tense only.
3. They are used to create main clauses.
4. They provide tense and time to sentences.
Options :
1.¥ 1
2.% 2
3. % 3

4. % 4



Question Number : 62 Question Id : 39226620582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The weather in Kashmir is cooler than that of Hyderabad.

Choose the statement that is NOT true regarding the comparison in
the sentence above.

1. The temperature and overall climate conditions in Kashmir
are cooler compared to those in Hyderabad.

2 It's a straightforward comparison between the weather in
two different locations, stating that Kashmir experiences
lower temperatures or generally cooler conditions than
Hyderabad.

3. The comparison 1s between the weather conditions in

Kashmir and those in Hyderabad.

4. The comparison highlights that Hyderabad is cooler than
many other cities in India.

Options :
1. % 1
2.% 2
3.%3
4.9 4



Question Number : 63 Question Id : 39226620583 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

With the evidence firmly . the defendant lay awake

. anxious about the looming trial that could potentially
land them in debt if the court ruled against them.

Choose the option that fits the blanks respectively.
1: in hand. in bed
2, in the hand. in the bed

in a hand. in the bed

)

4, in the hand. in a bed
Options :
1.¥ 1
2. %2
3. %3
4.% 4

Question Number : 64 Question Id : 39226620584 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When the cat is away. the mice will play.

In the above sentence. ‘when the cat is away’ is:

i an adverb clause of time
2 an adverb clause of place
2 an adverb clause of location
4, a noun clause
Options :
1.v 1
2. % )
3. % 3

4.% 4



Question Number : 65 Question Id : 39226620585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that does not have an abstract noun in it.

1. Truthfulness 1s always appreciated.
2, Why are you drinking water with this plastic mug?
3. What do you think about his 1dea?
4. Friendship 1s priceless.
Options :
1% 1
2.¥2
3.% 3
4.% 4

Question Number : 66 Question Id : 39226620586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A customer came order a piZZﬂ.

Choose the option that fits the blank to complete the meaning of
the sentence above.

| on at
2. on with
3. into with
4. n to
Options :
1. %1
2. % )
3. % 3

4.9 4



Question Number : 67 Question Id : 39226620587 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence in which the word “first™ 1s used as a linker or
a cohesive device.

I First, we need to gather the materials. Then. we can begin
the experiment.

2. As there 1s no room in the first row, we went back to sit.

3. How did you spend your first day at school?

4, During the visit. the students will gain first-hand
information regarding biotechnology.

Options :
1.v 1
2. % 2
3. % 3
4. % 4

Question Number : 68 Question Id : 39226620588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

She ought to read this novel.

The mood conveyed in the above sentence is:

I possibility or prediction
2. suggestion or recommendation
3. capability and permissiveness
4, willingness or determination
Options :
1% 1
2.¥2
3.% 3

4.% 4



Question Number : 69 Question Id : 39226620589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following tense form can be used to describe an action that
will be completed before a certain time in the future.

il Future past simple tense
2 Future continuous tense
3 Future perfect tense
4

Past tense of future continuous tense

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 70 Question Id : 39226620590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
I do enjoy a good movie.
The above sentence is an example of:

1. Emphatic form

2. Subjunctive mood

-

Progressive aspect

4. Perfect aspect

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 71 Question Id : 39226620591 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that does not explicitly mention who
performed the action of stealing the purse.

L. The purse was stolen by a thief.
2. The purse has been stolen.
3. The purse was stolen by the maid.

4. Gopal stole the purse.

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 72 Question Id : 39226620592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that begins with the doer of the action.

1. The thief was caught yesterday.
2 Sheela has been given an expensive gift.
3 Mohan 1s a doctor.
4. The doctor performed an operation.
Options :
1% 1
2.% 2
3. % 3

4.9 4



Question Number : 73 Question Id : 39226620593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following sentence type 1s best suited for balancing
contrasting ideas.
k. Simple sentence

Z. Compound sentence
3, Complex sentence

4. Fragment sentence
Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 74 Question Id : 39226620594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following idioms means taking on more than you can
handle:

L. Bite off more than you can chew
2 Let the cat out of the bag
3. Actions speak louder than words

4. Spill the beans

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 75 Question Id : 39226620595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Employers sometimes pass over job applicants who have no prior
experience.

Identify the adjective clause in the sentence above.

L

wal:  Ind

4,

Options :

1. % 1
2. % 2
3.¢¥3
4. % 4

Employers sometimes
pass over job applicants
who have no prior experience

sometimes job applicants

Question Number : 76 Question Id : 39226620596 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the use of complex sentences in enhancing the
sophistication of writing.

Options :

1% 1
2. %2
3.¢3
4.% 4

By emphasizing a single idea
By linking ideas with equal emphasis
By adding layers of detail and hierarchy between ideas

By eliminating the need for dependent clauses



Question Number : 77 Question Id : 39226620597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the prepositional phrase that does not indicate position or
place.

L. At the entrance of the magnificent, historic cathedral

2. In the depths of the dense. uncharted rainforest

L4k

With reference to the recent policy changes

4. Under the shade of the towering ancient oak tree

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 78 Question Id : 39226620598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence where the prepositional phrase adds additional
descriptive detail:

i The child sat on the chair.

2 The child sat on the old, wooden chair by the window
overlooking the garden.

)

The child sat there waiting for someone.
4. The child decided to move.

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 79 Question Id : 39226620599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the best fit for the blank:

"The children had to their misbehavior by helping their
teacher clean the classroom."

1. put up with
2. come up with

make up for

L)

4. do away with

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 80 Question Id : 39226620600 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify what "get away with" implies in this sentence:

"He got away with submutting the assignment late because the
teacher didn’t notice."

ki He apologized for being late.

2 He avoided punishment for being late.

-

He made up for his tardiness.

4. He looked forward to submuitting it late.

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 81 Question Id : 39226620601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
To my surprise. he was killed in an accident.

Identify the function of the phrase "To my surprise".

). It acts as the subject of the sentence.
2 It functions as an adverbial phrase.
3. It is the main verb of the sentence.
4. It serves as the object of the sentence.
Options :
1. %1
2.¥2
3. % 3
4. % 4

Question Number : 82 Question Id : 39226620602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Gopal is a teacher. His brother 1s also a teacher.

The above sentences can be combined as a single sentence using
the following conjunction:

E. and ... therefore
X Neither ... nor
3 No sooner ... than

4. Both ... and

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 83 Question Id : 39226620603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is NOT the meaning of “Break the ice™:

1, To initiate a conversation in a formal situation
2. To reveal a secret unintentionally
3 To ease tension in a group
4. To make people feel comfortable
Options :
1. %1
2.¥2
3.% 3
4.% 4

Question Number : 84 Question Id : 39226620604 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the most appropriate idiom to complete the sentence:

She accidentally mentioned the surprise party to John. so she

1. cried over spilled milk
2 broke the ice
3. spilled the beans
4. hit the nail on the head
Options :
1. % ]
2. % 2
3.3

4, % 4



Question Number : 85 Question Id : 39226620605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence i which the word. ‘over’ functions as an
adverb.

1. She jumped over easily.
2. She jumped over the fence.
3. She placed the book over the table.

4. The game is over.

Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 86 Question Id : 39226620606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that uses "look out for" correctly.

1. Look out for vour health: it 1s important.
2. She looked out for the window to see the rain.
3. He always looked out for working late.
4. They looked out for their teacher when they were running
late.
Options :
1.v' 1
2. % 2
3.% 3

4.% 4



Question Number : 87 Question Id : 39226620607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

His speech will be broadcast.

Identify the part of speech of the word “broadcast™ in the sentence
above.

I adjective

2. noun

3. adverb
4. verb

Options :

1. %1

2. % )

3. %3
4.9 4

Question Number : 88 Question Id : 39226620608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the role of direct speech in enhancing storytelling.

L. It creates ambiguity and confusion among readers.
2. It decreases engagement by distancing readers from the
characters.
3. It provides clarity by summarizing characters' dialogue
indirectly.
4. It brings characters to life. fosters reader engagement, and
conveys emotions authentically.
Options :
1% 1
2. % 2
3.% 3

4.9 4



Question Number : 89 Question Id : 39226620609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following 1s not a valid prepositional phrase. Identify it.
3 By the banks of the gently flowing. serene river
2, In the depths of the dense. uncharted rainforest
3. Under the top of the snow-capped mountain peak

4. On the top of the tall. snow-capped mountain peak

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 90 Question Id : 39226620610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the sentence where the prepositional phrase is incorrect:

1. At the entrance of the magnificent. historic cathedral
2. In the shadow of the towering, ancient castle walls
3 By the banks to the gently flowing. serene river
4. Under the surface of the crystal-clear blue water
Options :
1% 1
2.% 2
3.¥3

4. % 4



Question Number : 91 Question Id : 39226620611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is an example of using composition to improve
emotional expression.

L. Writing a formal letter to request leave at work.
2, Composing a reflective journal entry about a personal
experience.
3. Drafting a research paper on environmental policies.
4, Preparing an advertisement script for a product.
Options :
1% 1
2.¥2
3.% 3
4.% 4

Question Number : 92 Question Id : 39226620612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

You are writing a notice about a fire drill in your office. What
should the notice emphasize?

1. The mmportance of fire safety in general.
2. Instructions on where employees should assemble during
the drill.
3. A detailed history of past fire drills in the organization,
4. The company’s policies on workplace safety.
Options :
1%
2.¥2
3. % 3

4, % 4



Question Number : 93 Question Id : 39226620613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

You are writing an article for a health magazine about staying fit.
What type of tone should you use?

I Academic and research-heavy to show vour expertise.

2, Strict and commanding to enforce rules.

-

3. Casual and humorous to entertain readers.

4, Motivational and practical to engage readers.

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 94 Question Id : 39226620614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

While writing a précis of a news article. what should you
prioritize?

Choose your answer from the following.

L. Retaining only the main points and key arguments.
2. Summarizing the least important details.
3. Using your own opinions to make it more engaging.
4. Copying sentences directly from the article.

Options :

1.¥1

2.% 2

3.% 3

4. % 4



Question Number : 95 Question Id : 39226620615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Read the following passage:

Amidst the verdant expanse of the rainforest. life pulses with an
ancient rhythm, a symphony of biodiversity teeming with creatures
great and small. where every leaf and every creature plays its part
i the delicate balance of nature's grand design.

The above passage primarily conveys the following about the
rainforest:

L. The rainforest 1s a barren and lifeless environment.
2. Life in the rainforest 1s chaotic and unpredictable.
3. The rainforest is a vibrant ecosystem rich in biodiversity.
4. The passage suggests that the rainforest is msignificant in
the grand scheme of nature.
Options :
1% 1
2. % 2
3.¥3

4.% 4



Question Number : 96 Question Id : 39226620616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Read the following passage:

The relentless march of artificial intelligence continues to redefine
human boundaries. blending creativity with computation and
challenging the very essence of what 1t means to think. In a world
where algorithms compose symphonies and craft poetry, the line
between human ingenuity and machine intelligence becomes ever
more blurred, leaving society to ponder the ethics and implications
of this technological evolution.

Choose the statement that best summmarizes the passage given
above:

I Artificial intelligence has no impact on human creativity.

2. Artificial mtelligence 1s challenging traditional notions of
human thought and creativity.

3. Algorithms are incapable of producing creative outputs like
symphonies and poetry.
4. The passage argues that artificial intelligence 1s ethically
superior to human intelligence.
Options :
1% 1
2.¥2
3.% 3

4, % 4



Question Number : 97 Question Id : 39226620617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify what Wordsworth expressed in the preface to the Lyrical
Ballads regarding the purpose of his poetry.
L. His poems primarily aimed to entertain and amuse readers.

2. He emphasized drawing moral lessons from life experiences
through his poetry.

3. Wordsworth believed his poetry should focus solely on
aesthetic beauty.
4, He stated that poetry should be devoid of any moral
sentiment or philosophical principles.
Options :
1. % ]
2.2
3.% 3
4. % 4

Question Number : 98 Question Id : 39226620618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Leslie Stephen, the following sets Wordsworth apart
as a poet:

118 His mastery of complex poetic forms and structures.
Z. Wordsworth's ability to create purely sentimental portrayals
of nature.
3. The seriousness of his philosophical viewpoints and ethical
teachings.
4, His emphasis on humor and wit in his poetry.
Options :
1% 1
2. % 2
3.43

4.% 4



Question Number : 99 Question Id : 39226620619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the work where Carlyle uses clothing as a symbol to
explore deeper philosophical ideas.

B The French Revolution: A History

2 Past and Present

3. On Heroes. Hero-Worship. and the Heroic in History
4. Sartor Resartus

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 100 Question Id : 39226620620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following describes Carlyle’s writing style accurately:

L. Simple and straightforward
2. Highly symbolic. ornate, and rhetorical
3. Focused only on factual historical accounts
4. Completely free of satire and irony
Options :
1% 1
2.¥2
3.% 3

4. % 4



Question Number : 101 Question Id : 39226620621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Raymond Williams. the purpose of Dickens's
developed fiction is to capture the experience of

1, rural tranquillity
2. social conformity
3. loneliness and isolation in cities
4. industrial progress
Options :
1. %1
2.% 2
3.¢3
4. % 4

Question Number : 102 Question Id : 39226620622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the primary theme emphasized by Romantic poets that
distinguishes them from Victorian poets.

L. Social 1ssues and morality
2. Nature, emotion. and imagination
3. Faith and scientific doubt
4, Industrial progress and reforms
Options :
1% 1
2.92
3. % 3

4.% 4



Question Number : 103 Question Id : 39226620623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the Romantic poet who often reflected on mortality and the
fleeting nature of beauty in his works.

I John Keats

2 Samuel Taylor Coleridge

Lad

Elizabeth Barrett Browning
4. Alfred Lord Tennyson

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 104 Question Id : 39226620624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the Victorian poet who wrote In Memoriam. grappling
with faith and doubt.

I. William Blake

2. Robert Browning

3. P. B. Shelley

4. Alfred Lord Tennyson

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 105 Question Id : 39226620625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the Victorian poet whose works often grappled with the
crisis of religious faith brought on by scientific advancements.

L Percy Bysshe Shelley
2. Matthew Arnold
3 William Blake

4. Samuel Taylor Coleridge

Options :
1. % 1
2.92
3. % 3
4. % 4

Question Number : 106 Question Id : 39226620626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the work that serves as an example of the Victorian
fascination with morality. gender roles. and the domestic sphere.

1. Lyrical Ballads
2. Ode to the West Wind
3. Prometheus Unbound
4. Goblin Market

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 107 Question Id : 39226620627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Where Wordsworth spiritualizes and Shelley intellectualizes
Nature. Keats i1s content to express it through the senses.”
The above opinion was expressed by:

1] Compton Rickett
2. Sarojini Naidu

3. David Copperfield
4. John Keats

Options :
1.¥1
2. % 2
3.% 3
4. % 4

Question Number : 108 Question Id : 39226620628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about Lord Byron’s early life:

L. He mbherited his title at birth.
2. He was known for his ascetic lifestyle during his education.
;4 He inherited the title of Baron Byron at age 10.

4. He attended Oxford University.

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 109 Question Id : 39226620629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Lord Byron 1s associated with the movement in English
literature.
Choose the option that fits the blank:
i Victorian
2. Romantic
3 Modernist
4, Realist

Options :
1. % 1
2.92
3. % 3
4. % 4

Question Number : 110 Question Id : 39226620630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s NOT one of Matthew Arnold’s contributions to
literature:

L Advocating for disinterested criticism.
2. Writing extensively on the natural sciences.
3. Introducing the concept of literary "touchstones."
4. Promoting the importance of culture in society.
Options :
1%
2.92
3. % 3

4, % 4



Question Number : 111 Question Id : 39226620631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the profession that deeply influenced Matthew Armold’s
critical perspective on society:

i Professor of Poetry at Oxford.

Z. Poet Laureate of England.

3. Inspector of schools.

4, Editor of a literary magazine.
Options :
1. %
2.% 2
3.¢¥3
4. % 4

Question Number : 112 Question Id : 39226620632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the true statement. according to Browning's principles of
poetic art.

1. Browning prioritizes sound over sense in his poetry.
2. He encourages the use of elaborate and ornate language.
3. Browning advocates for the inclusion of excessive

adjectives for vivid imagery.

1. He values thought over expression and condenses his style
for significance.

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 113 Question Id : 39226620633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the effect achieved by Browning by frequently using
inverted constructions in his poetry.

1. Browning's inverted constructions enhance clarity and ease
of understanding.
2. Browning's inverted constructions create a sense of

predictability in his poetry.

3 Browning's inverted constructions contribute to the rugged
and fantastic nature of his style.
4. Browning's inverted constructions help maintain traditional
poetic norims.
Options :
1. %1
2. % 2
3.¢3
4.% 4

Question Number : 114 Question Id : 39226620634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the poet who used the mnovative technique of “*sprung
rhythm™ to challenge traditional metrical patterns.

L. Alfred Lord Tennyson
2. Gerard Manley Hopkins
3. Robert Browning
4. John Keats

Options :

1% 1

2.¥2

3. %3
4.% 4



Question Number : 115 Question Id : 39226620635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The primary reason for Whitman's avoidance of traditional meter
in his poetry is:

I He lacked the technical skill to write in metered verse.

. He believed that metered verse did not suit the purposes of
his poetry.

3: He wanted to challenge the dominance of European poetic
forms.
4, He preferred the musical effects of free verse over
traditional meter.
Options :
1% 1
2.¥2
3.% 3
4.% 4

Question Number : 116 Question Id : 39226620636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the significance of Whitman's interest in democracy.

1) It was purely theoretical and did not influence his poetry.
2 It stemmed from a desire to imitate other poets.
3. It reflected his sincere conviction and influenced his prose
and poetry.
4. It was a passing phase 1in his literary career..
Options :
1% 1
2.% 2
3.¥3

4.% 4



Question Number : 117 Question Id : 39226620637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify and choose the primary purpose of George Orwell's novel
Animal Farm:

1. To entertain readers with a fable about farm animals
2. To satirize the rise of totalitarian regimes. particularly
Stalinism
3. To explore the benefits of industrialization
4, To promote Marxist ideologies
Options :
1. % 1
2.¥2
3. % 3
4. % 4

Question Number : 118 Question Id : 39226620638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the symbolic representation of the windmill in Animal
Farm.

L. A tool of liberation for the animals
2. A symbol of unity among the animals
3 Stalin’s Five-Year Plans and false promises of progress
4 The strength of the working class.
Options :
1%
2. % 2
3.¢3

4, % 4



Question Number : 119 Question Id : 39226620639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the narrative style used in Animal Farm:

1 First-person from the perspective of Napoleon
2. Third-person ommniscient narrator

3. Second-person perspective

4. Stream of consciousness

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 120 Question Id : 39226620640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s the primary purpose of Austen’s use of free
indirect discourse in Pride and Prejudice

1. To maintain a neutral narrative tone
. To emphasize the aristocratic views of Mr. Darcy
3. To merge the narrator’s perspective with Elizabeth’s inner
thoughts
4. To provide comic relief through secondary characters
Options :
1% 1
2. % 2
3.43

4.% 4



Question Number : 121 Question Id : 39226620641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following literary device is most prominent in Austen’s
critique of societal norms in Pride and Prejudice

L.
2

T4l

4.

Options :

1. % 1
2.2
3.%3
4. % 4

Symbolism
Verbal irony
Metaphor
Hyperbole

Question Number : 122 Question Id : 39226620642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What critical theme 1s addressed through the contrasting
relationships of Elizabeth and Darcy versus Lydia and Wickham in
Pride and Prejudice?

Choose your answer from the following.

1.

Options :
1. % 1
2.92
3.% 3
4. % 4

The tension between love and social ambition

The consequences of impulsive decisions versus rational
growth

The benefits of wealth in romantic relationships

The role of gender roles in shaping societal expectations



Question Number : 123 Question Id : 39226620643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the theme that 1s NOT central to Charles Lamb's Dream
Children: A Reverie.

3 Nostalgia for the past

41 Love and loss

3. The joy of fulfilled desires
4. Mortality

Options :

1. % ]

2. % )

3.9 3

4, % 4

Question Number : 124 Question Id : 39226620644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the narrative structure employed in Dream Children: A
Reverie.

L. A straightforward recounting of events
2. A dream framework blending reality and imagination
3. A philosophical dialogue
4. A dramatic monologue
Options :
1% 1
2.¥2
3. %3

4, % 4



Question Number : 125 Question Id : 39226620645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the symbolic significance of the river in How Far is the
River.

| A representation of childhood mnocence

2. A representation of societal expectations

3. A symbol of the boy’s physical endurance

4. A metaphor for life. aspiration. and achievement

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 126 Question Id : 39226620646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the narrative style used in How Far is the River.

L. Third-person linited
2 First-person omniscient
3 First-person limited
4. Third-person omniscient
Options :
1.¥1
2.% 2
3. %3

4, % 4



Question Number : 127 Question Id : 39226620647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the central theme of The Face on the Wall by E.V. Lucas.
| The supernatural nature of coincidences

2. The power of storytelling and human gullibility

3. The inevitability of fate

4. The psychological impact of obsession.

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 128 Question Id : 39226620648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is a key symbol in The Face on the Wall by E.V.
Lucas:

L The face on the wall
2. A mysterious letter
3 A broken mirror

4. A locked room

Options :
1.¥1
2. % 2
3.% 3
4. % 4



Question Number : 129 Question Id : 39226620649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the event in The Gold Frame that serves as the turning
point of the story:

1. The customer describing his requirements for the
photograph
2. Datta framing the photograph carefully
3. The photograph getting smudged with ink
4. The customer expressing satisfaction with the finished
product
Options :
1% 1
2.% 2
3.¢¥3
4.% 4

Question Number : 130 Question Id : 39226620650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the ironic element in R.K. Laxman’s The Gold Frame that
contributes most to its humor:

1 Datta’s meticulous handling of the photograph
2. The customer’s inability to recognize the swapped
photograph

Lk

The customer’s insistence on the gold frame

4. Datta’s dedication to his craft

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 131 Question Id : 39226620651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the character from The Tempest who symbolizes the
resistance to colonization and the complexities of cultural identity:

Iy Ariel
2. Prospero
3. Caliban

4, Ferdinand

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 132 Question Id : 39226620652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the central theme of The Tempest reflected in Prospero’s
decision to forgive Antonio and Alonso:

1 Power and domination
2. Betrayal and vengeance
3. Forgiveness and redemption
+ [lusion and reality
Options :
1% 1
2. % 2
3.¢3

4.% 4



Question Number : 133 Question Id : 39226620653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the statement that best reflects the significance of ActIin
Macbeth:

1 It focuses on Macbeth’s downfall and ultimate demise.

2. It establishes Macbeth as a tragic hero and introduces the
witches’ prophecy.

D

It emphasizes Lady Macbeth’s guilt and her descent into
madness.

4. It highlights the rebellion against Macbeth’s tyranny.

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 134 Question Id : 39226620654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the scene in Macbeth where the disruption of the natural
order 1s symbolized by unnatural events. such as horses eating each
other:

L ActII, Scene 2
2. Act III. Scene 4
3. Act Il Scene 4
4. Act IV, Scene 2

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 135 Question Id : 39226620655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the central conflict of Julius Caesar that drives the plot
forward:

i Caesar's ambition and his potential tyranny.
2 Antony's desire for personal revenge.

3. Brutus's love for Caesar over Rome.

4, Cassius's mability to trust the conspirators.

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 136 Question Id : 39226620656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the character in Julius Caesar who best represents the
tension between personal lovalty and public duty:

1. Julius Caesar
2. Mark Antony
3. Cassius
4. Brutus
Options :
1. % 1
2. % )
3% 3

4.9 4



Question Number : 137 Question Id : 39226620657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In Hamlet. what does the ghost of King Hamlet demand from
Prince Hamlet during their first encounter?

il
4

3,
4.

Options :

1. %1
2. %2
3.¢3
4. % 4

To flee Denmark and avoid Claudius
To forgive Claudius for the murder
To avenge his murder by killing Claudius

To marry Ophelia and restore honor to the family

Question Number : 138 Question Id : 39226620658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The philosophical depth of Hamlet is best illustrated by which of
the following scenes?

L
B

]
iz
4.

Options :
1. %1
2.9 2
3.% 3
4. % 4

The fencing duel between Hamlet and Laertes
Hamlet's soliloquy beginning with "To be. or not to be"
The death of Polonius behind the arras

The Ghost’s first appearance to Hamlet



Question Number : 139 Question Id : 39226620659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the incident in The Importance of Being Earnest that
directly leads to Algernon discovering Jack’s double life:

il
5

5
X

4.

Options :

1. %1
2.2
3.% 3
4, % 4

Jack proposes to Gwendolen.
Algernon finds Jack’s cigarette case.
Jack announces the death of "Ernest."

Miss Prism confesses her past mistake.

Question Number : 140 Question Id : 39226620660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the character in The Importance of Being Earnest who
msists that Jack’s unknown parentage makes him unsuitable for
marriage to Gwendolen:

L.
2

5
J.

4.

Options :

1.¥ 1
2. % 2
3.% 3
4. % 4

Lady Bracknell
Miss Prism
Algernon Moncrieff

Cecily Cardew



Question Number : 141 Question Id : 39226620661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The incident in The Refund where teachers treat even absurd
answers as correct highlights which aspect of their strategy?

1. Their adherence to academic integrity
2. Their wit and practical approach to counter Wasserkopf's
demand

L4k

Their lack of confidence in the education system

4. Their refusal to engage with Wasserkopf's absurdity

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 142 Question Id : 39226620662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Refund implies the following about society’s reliance on
academic performance:

L. It 1s the ultimate measure of success.
2 It often overlooks practical skills and individual potential.
3, It guarantees success in real-life challenges.
4. It ensures ethical behavior in institutions.
Options :
1% 1
2.¥2
3. %3

4, % 4



Question Number : 143 Question Id : 39226620663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the primary reason Sujata feels alienated within her family
in Mother of 1084:

L. Her inability to relate to her husband's political views

2, Her opposition to the Naxalite movement

-

Her refusal to conform to traditional gender roles
4. Her family's indifference to her grief over Brati's death
Options :
1% 1
2. % 2

3. %3
4.9 4

Question Number : 144 Question Id : 39226620664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the significance of the title Mother of 1084 in the context
of the novel:

I It refers to Sujata’s maternal connection to Brati and his
ideals.

12

It symbolizes the number of revolutionary martyrs in the
Naxalite movement.

3 It reflects the dehumanization of Brati as just another corpse
in the system.
4. It highlights Sujata’s personal journey of self-realization.
Options :
1%
2. % 2
3.¢3

4, % 4



Question Number : 145 Question Id : 39226620665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the poem. Ode to Autumm. how is autumn personified in the
second stanza?

/17 As a laborer sleeping in the fields
2. As a reaper who refuses to work
3. As a collaborator with the bees

4. As a farmer tilling the soil

Options :
1.¥1
2. % 2
3.% 3
4. % 4

Question Number : 146 Question Id : 39226620666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the poem. Ode to Autumn, the following literary device is used
in the phrase “season of mists and mellow fruitfulness™:

L Simile
2. Metaphor
3. Onomatopoeia

4. Alliteration

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 147 Question Id : 39226620667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the tone of the poem Ode fo Autummn 1n its final stanza:
1. Nostalgic and melancholic

2, Celebratory and joyous

3 Bitter and regretful

4. Reflective and accepting

Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 148 Question Id : 39226620668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the literary device prominently used in the poem to
describe Shakespeare’s legacy (On Shakespeare):

I Metaphor of a lasting "monument"

2. Personification of Shakespeare’s bones

L4k

Simile comparing Shakespeare to kings
4. Hyperbole about Shakespeare’s fame

Options :

1.v1

2. % 2

3. % 3

4. % 4



Question Number : 149 Question Id : 39226620669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The tone of the poem On Shakespeare can best be described as:
R Grieving and melancholic

2. Reverential and celebratory

3. Critical and satirical

4. Lighthearted and humorous

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 150 Question Id : 39226620670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the tone of the poem as it progresses (On Time):
1. Cheerful to mournful
2. Anguished to hopeful

L4l

Reflective to triumphant

e

Nostalgic to regretful

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 151 Question Id : 39226620671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following poem features imagery of a "widening gyre" and a
"rough beast":
] Byzantium
2 The Second Coming
3 The Wild Swans at Coole
4. Education of Nature

Options :
1. % 1

2.¢ 2
3. %3
4.% 4

Question Number : 152 Question Id : 39226620672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

What distinguishes The Wild Swans at Coole from Byzantium and
The Second Coming in terms of focus?

Choose your answer from the following.

1 It explores an ideal, mystical realm.
2. It 1s primarily concerned with artistic inumortality.
3. It emphasizes historical cycles and chaos.
4, It stays grounded in personal reflection and natural beauty.
Options :
1%
2.% 2
3. % 3

4.9 4



Question Number : 153 Question Id : 39226620673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the phrase that best represents Milton’s view of earthly life
m On Time:

li "false and vain"

2. "perfectly divine"

3. "attired with stars"

4 "supreme throne"

Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 154 Question Id : 39226620674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the rhetorical device used in the lines. “Mercy has a
human heart. Pity a human face” in the poem The Divine Image:

L. Metaphor
3. Hyperbole
3. Personification
4. Allegory
Options :
1. %1
2.% 2
3.¢3
4.% 4



Question Number : 155 Question Id : 39226620675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct statement about the universality presented in
the poem The Divine Image:

2 Blake limits divine virtues to Christian theology.
2 The poem excludes people from non-religious backgrounds.
3. Divine qualities are accessible to all. regardless of religion
or culture.
4. Universal prayer is depicted as futile without rituals.
Options :
1%
2. % 2
3.¢3
4.% 4

Question Number : 156 Question Id : 39226620676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the poem The Wild Swans at Coole. W.B. Yeats uses the swans
to symbolize:

i The inevitability of death and decay.
5 Timeless vitality and constancy in nature.
3. Human struggle against natural forces.
4, Romantic love and its fleeting nature.
Options :
1% 1
2.¥2
3.% 3

4.% 4



Question Number : 157 Question Id : 39226620677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the statement that best reflects Matthew Arnold’s central
idea in The Study of Poetry:

L. Poetry 1s meant solely for entertainment and artistic
EXPression.

12

Poetry can serve as a replacement for religion in providing
moral guidance.

3. Poetry's primary function 1s to critique social and political
issues.
4. Poetry 1s inferior to prose in interpreting life and universal
truths.
Options :
1% 1
2.¥2
3.% 3
4.% 4

Question Number : 158 Question Id : 39226620678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the critical method proposed by Amold in The Study of
Poetry to evaluate the quality of a poem:

L. Comparing 1t with historical and cultural contexts with
reference to Europe

2, Focusing on its emotional appeal to the reader
3. Judging 1t based on contemporary popularity and relevance
4. Using a "touchstone method" to compare it with the works
of great poets

Options :

1% 1

2. % 2

3.% 3

4.9 4



Question Number : 159 Question Id : 39226620679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The essay The Function of Criticism critiques the following
approach to criticism:

1. Emphasis on the text’s historical context

2 Focus on the critic’s personal impressions and feelings

T4l

Analysis of literary tradition
4. Objective analysis of the text

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 160 Question Id : 39226620680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In The Function of Criticism, T.S. Eliot argues for a criticism
rooted in the following principle;

ki The audience’s emotional engagement with the work
2. The revolutionary potential of the work
3, The historical and cultural context of the work
4, The critic’s subjective interpretation
Options :
1% 1
2.% 2
3.¥3
4.% 4
Section 5
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Question Number : 161 Question Id : 39226620681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is a major challenge in teaching English in India:
1. Abundance of qualified teachers
2. Support for English over the mother tongue
3. Lack of infrastructure and ideological opposition
4. Simplified teaching methods
Options :
1% ]
2.% 2
3.¥3
4.% 4

Question Number : 162 Question Id : 39226620682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the unique characteristic of the English language that

contributes to its dynamic nature:
L. Rigid gramumar rules
2 Limited vocabulary from external sources
3 Adoption of words from various languages
4. Its fixed phonetic system

Options :

1% 1

2. % 2

3.¥3

4.% 4



Question Number : 163 Question Id : 39226620683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the aspect that does not contribute to English's status as a
global language:

l. Its use in scientific research

2. Its dominance in regional tribal communities

L)

Its role 1 international business and comumunication
4. Its prevalence in Nobel Prize laureates” works

Options :
1. % 1
2.92
3.% 3
4. % 4

Question Number : 164 Question Id : 39226620684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s NOT a benefit of multilingualism in education:

i Improved creativity and problem-solving skills
2. Decreased tolerance for cultural differences
3. Enhanced school performance and cognitive skills
4, Better literacy and phonological awareness
Options :
1. % 1
2.¥2
3. % 3

4. % 4



Question Number : 165 Question Id : 39226620685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The NCF (2005) suggests that language evaluation should:

1. Be focused on syllabus completion

2. Be exclusively for English medium schools

-

Avoid the inclusion of regional languages

4. Enable learmning and assess language proficiency

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 166 Question Id : 39226620686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In the context of teaching English. the term BICS refers to:

1. Developing literary appreciation skills
2 Acquiring proficiency in reading and writing
3, Enhancing grammatical accuracy
4. Achieving basic interpersonal communication skills
Options :
1% 1
2.% 2
3.% 3

4.9 4



Question Number : 167 Question Id : 39226620687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Macaulay’s Minutes of 1835, the primary intention
of introducing English was:

it

2.
3

4.

Options :

1.¢ 1
2. %2
3. %3
4. % 4

To create a class of people influenced by English morals
and mtellect

To eradicate the dominance of regional languages
To enable technological advancements in India

To provide equal opportunities in Indian education

Question Number : 168 Question Id : 39226620688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following feature is highlighted as a benefit of multilingualism

in India:

L Restricting language use to ensure consistency

2. Meeting diverse communication needs through multiple

languages

3. Promoting one dominant language for all purposes

4. Eliminating regional languages from academic contexts
Options :
1% 1
2.¥2
3.% 3

4.% 4



Question Number : 169 Question Id : 39226620689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the primary reason why many students remain “tongue-
tied” after 12 years of learning English:
1. Lack of motivation and practical teaching methods
2. Overcrowded classrooms
3. Influence of mother tongue
4. Poor infrastructure mn schools

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 170 Question Id : 39226620690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is the most critical issue with the current English
curriculum for college students:

1. It is too theoretical and exam-centered.
2. It lacks modern teaching materials.
3. It is focused on oral communication only.
4. It 1s too advanced for rural students.
Options :
1.¥1
2.% 2
3. % 3

4, % 4



Question Number : 171 Question Id : 39226620691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following 1s recommended to enhance language teaching
effectiveness:
Ll Reliance on textbooks
2 Incorporation of multimedia tools
3. Exclusive use of mother tongue
4. Avoiding competitive activities
Options :
1% 1
2.¥2

3.%3
4, % 4

Question Number : 172 Question Id : 39226620692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the primary characteristic of the faulty examination system:

i, It encourages analytical skills.
2. It promotes rote memorization.
3 It uses innovative evaluation methods.
4. It tests only communicative competence.
Options :
1% 1
2.¥2
3.% 3

4.% 4



Question Number : 173 Question Id : 39226620693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following approach integrates listening. speaking. reading. and
writing:
I Communicative Language Teaching
2. Direct Method
3. Oral Approach
4. Grammar Translation Method
Options :
1.¥ 1
2.% 2

3.%3
4. % 4

Question Number : 174 Question Id : 39226620694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the feature of the Oral Approach regarding evaluation:

3 Instant correction of oral errors
2. Focus on peer evaluation
3. Delayed correction of written tasks
4, Grammar accuracy prioritized over fluency
Options :
1.¢ 1
2.% 2
3.% 3

4. % 4



Question Number : 175 Question Id : 39226620695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the key advantage of the Bilingual Method:
L Use of authentic real-world materials

2. High fluency without dependence on translation

-

Minimal need for teaching aids

4, Exclusive focus on grammatical accuracy

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 176 Question Id : 39226620696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the critical focus of Dr. West's New Method:

il Silent reading and comprehension
2. Oral fluency and communication
3. Grammar proficiency
4, Cultural immersion

Options :

1.¥1

2.% 2

3.% 3

4. % 4



Question Number : 177 Question Id : 39226620697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the limitation of Communicative Language Teaching in
large classrooms:

1 Focus on written exercises
i Lack of student interaction
3 Overemphasis on grammatical rules

4, Limited participation from all students

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 178 Question Id : 39226620698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the principle not emphasized in Structural Approach:

L. Gradation of structures
2. Habit formation through drills
3. Emphasis on vocabulary over patterns
4. Pupil activity in learning
Options :
1% 1
2.% 2
3.43

4. % 4



Question Number : 179 Question Id : 39226620699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the key difference between "method" and "approach” in
ELT:

1, Method 1s theoretical: approach is practical

2. Approach deals with assumptions: method 1s systematic
implementation

L

Method focuses on classroom techniques: approach
involves grammatical rules

4. Approach 1s teacher-centered: method is learner-centered

Options :
1. % 1
2.92
3.% 3
4. % 4

Question Number : 180 Question Id : 39226620700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the principle most aligned with the Grammar Translation
Method:

1. Emphasis on oral communication and phonetics

2. Memorization of grammar rules and vocabulary

-

Use of real-life scenarios to teach language patterns

4. Introduction of grammar inductively through examples

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 181 Question Id : 39226620701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following sub-skill of reading involves distinguishing main
ideas from subsidiary information:
k: Inferring the mood of the writer
2. Retrieving specific information
3. Skimming the content
4. Recognizing graphic signals

Options :

1% 1

2. % 2

3.¢3

4. % 4

Question Number : 182 Question Id : 39226620702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is the focus of persuasive writing.

I Narrating events sequentially
2. Providing factual information
3. Influencing readers with precise and logical language
4. Describing people. places. or concepts
Options :
1% 1
2.% 2
3.¥3

4, % 4



Question Number : 183 Question Id : 39226620703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the punctuation mark crucial to avoid ambiguity in
sentences:

I Hyphen (-)
2 Colon (3)

-

3. Semi-colon (:)
4, Apostrophe (')

Options :

1. %

2. % 2

3.3

4. % 4

Question Number : 184 Question Id : 39226620704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the activity that combines reading and drawing

conclusions beyond the explicit text:
i Skimming
2. Note-taking
3. Paraphrasing
4. Inferring
Options :
1% 1
2.% 2
3.% 3

4.9 4



Question Number : 185 Question Id : 39226620705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary focus of speaking strategies for beginners.
according to Adrian Doff:

L. Fluency and naturalness in conversation
2 Developing vocabulary

3. Improving grammar accuracy

4. Encouraging complex sentence formation

Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 186 Question Id : 39226620706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
What role do "scripts" play in teaching speaking skills?

Choose your answer from the following.

1. They provide material for intensive listening.
2. They guide predictable spoken exchanges in social
situations.
3. They are used to practice reading aloud.
4. They help students imitate pronunciation patterns.
Options :
1% 1
2.¥2
3. %3

4, % 4



Question Number : 187 Question Id : 39226620707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the speaking activity that involves students playing the
roles of individuals in specific situations:
L. Transformation drills
2. Substitution tables
3 Oral composition
4. Role-play

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 188 Question Id : 39226620708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary goal of developing speaking skills in learners:

L. To master grammar rules
2. To express thoughts fluently and accurately
3, To increase vocabulary size
4. To understand complex texts
Options :
1% 1
2.¥2
3. % 3

4. % 4



Question Number : 189 Question Id : 39226620709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify a major disadvantage of the mobile language lab:
L Lack of portability

2 Inability to foster communication

3. Requirement for heavy and cumbersome equipment

4. Limited availability of leamning resources
Options :
1% 1
2.% 2
3.43
4.% 4

Question Number : 190 Question Id : 39226620710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the role of textbooks in the teaching-learning process:

L. To test knowledge without teaching
P To focus on audio-visual enhancements
3. To completely replace teaching aids
4. To offer a framework of guidance and orientation
Options :
1. % 1
2.% 2
3. % 3

4.¥ 4



Question Number : 191 Question Id : 39226620711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Select the correct statement about teaching-learning materials:
1L They should only focus on the teacher’s needs.
2. They make learning monotonous.
3. They should be student-oriented and purposeful.

4. They are designed for advanced learners only.

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 192 Question Id : 39226620712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary function of the teacher’s console in a language
lab:

L, Playing multimedia content only.
2. Simplifying theoretical concepts.
3 Preventing access to learning resources.
4. Monitoring and guiding students.
Options :
1%
2. % 2
3. % 3

4.9 4



Question Number : 193 Question Id : 39226620713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following preparation stage focuses on teacher self-evaluation:

1 Preparation Stage 1
2. Preparation Stage 2
3 Preparation Stage 3
4. Preparation Stage 4

Options :

1% 1

2. %2

3.% 3

4.4 4

Question Number : 194 Question Id : 39226620714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the benefit of yearlong planning for teachers:

. It eliminates the need for daily lesson preparation.
2. It helps align standards. assessments, and holidays.
3 It minimizes the importance of unit plans.
4. It limits teacher creativity in curriculum design.
Options :
1%
2.¥2
3. % 3

4, % 4



Question Number : 195 Question Id : 39226620715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify a key element of instructional planning:
L Arbitrary sequencing of topics.

2 Focus on theoretical knowledge only.

Lad

Logical pacing of lessomns.
4. Eliminating the use of learner feedback.

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

Question Number : 196 Question Id : 39226620716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following technique 1s crucial for evaluating comprehension in
a prose lesson:

L Silent reading without interaction.
2. Teaching vocabulary only.
3 Recapitulation and questioning.
4. Loud reading by the teacher alone.
Options :
1. %1
2.% 2
3.¢3

4.% 4



Question Number : 197 Question Id : 39226620717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the best approach for testing creative and critical thinking
skills:

i Adnunistering standard multiple-choice questions.
2. Providing brainstorming sessions to generate innovative
ideas.
3. Conducting oral recitations of pre-learned material.
4, Focusing solely on vocabulary and grammar exercises.
Options :
1% 1
2.¥2
3. % 3
4. % 4

Question Number : 198 Question Id : 39226620718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct sequence of steps in the evaluation process:

L, Forming objectives — Analyzing results — Devising tools
— Providing experiences.

2 Forming objectives — Stating in behavioral terms —
Providing experiences — Devising tools — Interpreting
results.

3. Devising tools — Forming objectives — Providing learning
experiences — Interpreting results.

4. Providing experiences — Stating objectives — Forming
tools — Arriving at conclusions.

Options :
1% 1
2.¥2
3.% 3

4.% 4



Question Number : 199 Question Id : 39226620719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary purpose of a curriculum:

L.

fad

Options :

1. %1
2.% 2
3.3
4.% 4

To provide a detailed syllabus for teachers.
To ofter students a race course to follow.

To guide educators in delivering essential teaching and
learning experiences.

To replace textbooks in the classroom with robotic
technology.

Question Number : 200 Question Id : 39226620720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following characteristic ensures a curriculum remains
effective over time.

1.
2,
A

4.

Options :
1. %1
2. % 2
3.% 3
4.9 4

Democratic conception.
Use of standardized materials.
Inclusion of modern textbooks.

Continuous monitoring and evaluation.



